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DO000000000 000o00dodnd #pragma hdrstop
#include gt. #include gt. const A=30.0. const B=10.0. const
MAX=500.//0 O O OO O const COEF=0.0035.//0 0 0O OO O
[1 const BCOEF=0.001.//0 0 0000 0OO O const
ERROR=0.002./0 000000000 const
ACCURACY=0.0005.//0 O J O O O double
sample[41][4]={{0,0,0,0},{5,1,4,19.020},{5,3,3,14.150},
{5,5,2,14.360},{5,3,3,14.150},{5,3,2,15.390},
{5,3,2,15.390},{5,5,1,19.680},{5,1,2,21.060},
{5,3,3,14.150},{5,5,4,12.680},{5,5,2,14.360},
{5,1,3,19.610},{5,3,4,13.650},{5,5,5,12.430},
{5,1,4,19.020},{5,1,4,19.020},{5,3,5,13.390},
{5,5,4,12.680},{5,1,3,19.610},{5,3,2,15.390},
{1,3,1,11.110},{1,5,2,6.521},{1,1,3,10.190},



{1,3,4,6.043},{1,5,5,5.242} {1,5,3,5.724},
{1,1,4,9.766},{1,3,5,5.870},{1,5,4,5.406},
{1,1,3,10.190},{1,1,5,9.545},{1,3,4,6.043},
{1,5,3,5.724}{1,1,2,11.250},{1,3,1,11.110},
{1,3,3,6.380},{1,5,2,6.521},{1,1,1,16.000},
{1,3,2,7.219},{1,5,3,5.724}}. double
w[4][10][10],wc[4][10][10],b[4][10],bc[4][10]. double
0[4][10],netin[4][10],d[4][10].differ.//0 OO O OO OO OJ O double is.
//0 000000 intcount,a. void netout(intm, intn).//00 O [
DO000000do0ddo void caleuld(int m,intn). //0 O O O
OO000000 void calcalwe(intm,intn).//0 00 OO0 0O O O
[1 O void calcaulbc(intm,intn). /0000000 OO O void
changew(int m,intn). //0 O O O O O void changeb(int m,int n).//
000000 void clearwe(intm,intn)./0 000 00O O O

[J we void clearbe(int m,intn).//0 O O O O O O O O be void
initialw(void).//UJ O OO NNO O O OO W void initialb(void). /00 [
O NNO O O O void calculdiffer(void).//00 OO NNO O O O O O
(1 O void calculis(void).//[OONNO OO OO OO O void
trainNN(void).//OONNO O AOONNOOOOOOOOO
0O 0O */ void netout(int m,intn) {inti,),k. /00 00 0O 0O O O
00 for(=1,i=2jit=3k)/000000o00ooooogo
L netin[i][j]=netin[i][j] o[i-1][K]*W[i]1[K][]]-
netin[i][j]=netin[i][j]-b[i1[j]. o[i][J]=A/(1 exp(-netin[i][j}/B)). } //
DOo0o00odod for (j=1,i=3.jlt.=m.k) netin[i][j]=netin[i][j]
o[i-1][KI*wLil[K]D0]. netin[if[j]=netin[i][i]-b[1[]. o[ l]=A/(
exp(-netin[i][j1/B)) . }} /AU ONNO OO 0O OO OO O * void



calculd(int m,int n) { int i,j,k. double t. a=count-1.
d[3][1]=(o[3][1]-sample[a][3])*(A/B)*exp(-netin[3][1]/B)/pow(1
exp(-netin[3][1])/B),2).//00 0 0O 0O O O for (J=1,i=2.jit.=n.k ) t=t
wli 1][1HK]*d[i 1][K]. d[i]1[j]=t*(A/B)*exp(-netin[i][j]/B)/pow(1
exp(-netin[i][j1/B),2).} } 100Test 1 D O D O OO OO OO OO
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